
2.3 Schüleraufgaben Lösungen 
 

Aufgabe O1: Rechne mit Hilfe des Mittelwertes die fehlende Zahl aus.  

Mittelwert Zahl 1 Zahl 2 Zahl 3 

17 10 39 2 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

18 16 21 17 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

25 35 23 17 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

45 30 12 93 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

70 8 50 152 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

80 70 35 135 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

85 20 230 5 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

257 140 611 20 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 

458 223 598 553 
 

 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

4 7 3 4 4 2 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

13 9 6 30 8 12 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

18 12 9 2 5 62 
 



Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

43 184 6 11 9 5 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

50 100 30 40 30 50 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

59 95 152 20 3 25 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

100 200 100 50 50 100 
 

Mittelwert Zahl 1 Zahl 2 Zahl 3 Zahl 4 Zahl 5 

999 200 75 60 10 4'650  
 

 

 


